OEEREZHRE CHRNRD T —X

RirEF

2R EM

2u-B

N\

(fEEDIHE) 336,000
(FEERF DIZS) 216,000

T

L B — A" I FERTS 500,000 -5 E1200,000M = 300,000/
H#25336,0003-300,000M = 36,000

(BzELrEHY) | ~36,000M % BhAk

Bl) FREITEE50HM. RM0AMTEZTDHA



QEEREZHEE CHANRAD T —X

TRiTEF

2R EM

B = B

(FEEDIKE) 336,000
(MEsEDIHS) 216,000/

o | ) mEez60Rm. HHNFMTEEDEE
A HELAEZRF B DLk FAF 4 % 600,000/ - R AH200,00073 = 400,000/ = % 45336,0007
I e/ 2ESE

SBIpk7R L




QL FREZREUNTHRNRD T — X

ZREM

H)JEJE%E'

T B — An
(AEER» "))

y2u-B

B{EEFEEZFH 6 HA S DEEH
XKEBABLGEICKYBEERFHIEDS
HBRVuahEEEsn

B) FERTEE60H M. HMR20AATEETL AES L D75%
FERTE 600,000 -2 A#1200,000M = 400,000
EAEFE454,500M9-400,000F3 = 54,5008
—54,500M % Bh Bk




@WEFREZGE LN TR RIND T — X

TRiTEF

2R EM

wrm- B

EEEEEEEC HASOEHE
XRBEAME E I & Y BEEHED 3
fpBRALEDE CEEL

S N B) FEETEE70AM. RER0AHTEETLAEL L D755
A 75\ % /—% %E\ B 'L/< J: FERTE 700,000 -3 20,0003 = 500,000/ = £ #454,500F
SN - BRI &R
>BIR s L




OEELFE LY LFEFEEN DB BIRERICER T —X
= [
FEETEE

2R EM

(B RERIR+TEEDNIHA) 336,000
(EERIREZIR + HERFDIHES) 216,000/
(EBREZHRLUNDIEES) BEEFREEHOHASLOEEE
XEIBABAGEICLYREEFIZDLI-ODERIVWEHELE
=3 A

N\ \

IWJ) FERITEF30HM. HER0SA TEE CEERERKE DS S

|
|
|
| EAEH = B
|
|
|
|

TEET 300,000 < E#E%E336,000M

Bz FEITEED L5 < BTIC I —~$§B1200,000/3 % 4
JTTICEERE Y DL
) FEEFE£E30H M. M40 H TEE CEEFRESTHKREDSES
S>BM %= (AHELRHY) | 7 58523000007 < 2#78336,00013 e

AZELEBR (28,000/8) x124H'B =336,000M < #EH400,000MH
I — A% LBR336,000M % %48



